Q [
8 0.6 -
Q Q7 i bl E
é : 0.55 ] <05
£ o6f 0.5
X C 3
C 3 —10.4
S osb 0.45 -
- 0.4
0.4 3 £z
: 0.35 ;{/'
0.3F 1 .
C o 0.3 —5 ;*'.‘_
0.2~ 0.25 = F
i;_j i
0.1 023 o s
O O-I:IillllillllllIII.IIII.IIII.IIII.IIII.IIII. 0.15;?I1II?IIIIIIIIIIIIIIIIIIIIIIIIII
£ pioi b F 12 3 45 6 7 8
x [ : : | —=— DQM_original_step2_ttbar-phasel-newgeom
0.95 - it —e— DQM_pixelCPE_step2_tthar-phasel-newgeom
L —— DQM_pixelCPENoMatR_step2_ttbar-phasel-newgeom
oo i NN

1 2 3 4 5 6 7 8 9
Efficiency vs. cut on dz(PV)



	Contents
	Page 1


